Chapter 11: TCP

1. What are the three phases of connection-oriented communications?

The three phases are setup, data transfer, and release (disconnect).

2. What fields are present in the TCP header but absent in UDP? Why are they not needed in UDP?

All fields besides source and destination ports and checksum are absent in UDP. These are not needed in UDP because UDP is not a connection-oriented protocol.

3. What is the TCP flow control mechanism called?

 The flow control mechanism in TCP is the sliding window procedure. It prevents senders from overwhelming receivers and applies in both direction of a TCP connection.  

4. What does it mean when the initial sequence and acknowledgment numbers are “relative”?

The initial sequence and acknowledgment numbers are chosen by an algorithm and usually contain many digits. For simplicity, these are often presented as numbers “relative” to a more user-friendly initial value, such as 0. 

5. What is silly window syndrome? What is the Nagle Algorithm? 

TCP windows often shrunk to next to nothing and sat there, a “silly” condition. So receivers can “lie” to prevent this, and senders can implement the Nagle Algorithm to prevent the sending of small segments, even if PUSHed (applications the naturally generate small segments, such as a remote login, can turn this off).

